
C1000-097:  IBM Cloud Pak for Automation v20.0.1 Solution 
Architecture Sample Questions 

 
097.4.4.11 
How is Automation Digital Worker (ADW) applied compared to Robotic 
Process Automation with Automation Anywhere (RPA)? 
 
A.  ADW orchestrates the backend, while RPA integrates with the 
frontend. 
B.  ADW should handle multiple cases, roles, and tasks, while a bot should 
be singularly focused. 
C.  ADW is used whenever the bot execution needs to be co-located with 
the user. 
D.  ADW should be used as middleware when integrating with other IBM 
Digital Business Automation suite items. 
 
 
097.2.1.8 
Which interface does Content Analyzer provide to FileNet Content 
Manager? 
 
A.  SOAP Web Service 
B.  JMS 
C.  REST API 
D.  CORBA 
 
 
097.1.1.17 
The following snippet is pulled from a file used when upgrading Business 
Automation Insights to v20.0.1. 

 
 



Which file was this pulled from? 
 
A.  custom resource YAML file 
B.  image pull secret file 
C.  ugradeOperator.sh file 

D.  bai_studio.yaml file 

 
 
097.3.4.1 
What can be used to configure User Management Service (UMS) to 
delegate the authentication of users to other identity providers? 
 
A.  Identity and Access Manager (IAM) that is provided by IBM Common 
Services 
B.  The email address of delegated user's IBM Cloud account 
C.  An access token generated by REST API 
D.  Any kind of third-party APP ID  
 
 
097.5.2.5 
Which two elements are used to correlate Business Automation Insights 
events? 
 
A.  parent-span-id 
B.  Instance-id 
C.  span-id 
D.  request-id 
E.  correlation-id 
 
 
097.2.3.3 
Which statement is true for Natural Language Understanding (NLU) 
integration with Business Automation Content Analyzer? 
 
A.  Users can select multiple NLU instances for a given Document Class. 
B.  Users can select multiple NLU instances for a given Pattern. 
C.  Users can select only one NLU instance for a given Document Class. 
D.  Users can select only one NLU instance for a given Pattern. 
 
 



097.4.2.6 
Which tool should be used for straight-through processing with backend 
connectivity? 
 
A.  Operational Decision Manager 
B.  Workstream Services 
C.  Business Automation Workflow 
D.  Robotic Process Automation 
 
 
097.1.2.3 
Which two statements are true about installation of Cloud Pak for 
Automation using deployment patterns in OpenShift Cloud Platform (OCP) 
for demonstration purposes? 
 
A.  OpenLDAP and DB2 need to be provisioned separately. 
B.  A non-administrator user is used to run a deployment script. 
C.  Master and infrastructure nodes need to be located on different hosts. 
D.  Master and etcd nodes need to be located on different hosts. 
E.  OCP Administrator sets up the cluster. 
 



Answer Key 

097.4.4.11 B 
097.2.1.8 C 
097.1.1.17 A 
097.3.4.1 A 
097.5.2.5 A,C 
097.2.3.3 A 
097.4.2.6 C 
097.1.2.3 B,E 


